EARAROBEEIERT — 2 N— IBISH —F 201351130 (H) 17EFELLI4H

m B3mW #5%—MH (w8 | imEmml - |5 5) oo
[AE4£] 1% :160,000  ~ 2#&:32,000 ™M  37%&:16,000 M 4% :8,000H ~ 5%&%:0MH
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. e E ) 22, 543 |37.8| — Bamp (@)
i o | B=KT7—% B4 o= 1(2_2)0 7-5-4-3 | 37.8 1 (4_9; pakr (R
8T Bip—-F4T7rdy b hl] s
. = 4t 6 | FEEER 1:22.1 2-2-2-2 [38.3| — 5 460 | SERBERE (1RLL)
2|8|8|¥%—7 54.0 (1/9) Oy |ErmE
RiA—FIhTz B:xavIREH £E &
S . o4 | EREHR 1:22.3 3-3-3-4 [38.3| — 2 506 | mARY (&)
311 | bZTF+>X 56.0 a) o) | A FURE N
L:d—IRkAaq1O— B:Hh U7 hit  Fik
- it 6 | SHEREX 1:22.4 1-1-1-1 | 38.7| — 3 447 | BARE— (1RLL)
4l7l 7|/ 1>7L X 54.0 (7€) (+2) | BEEEEGL
AR w4 =T BiACTRI Y b ® FEiE
S # o5 | EOEX 1:23.5 4-4-5-5 [39.3| — 6 495 | BEH— (EL)
5 IR 5.0 (5) (5) | NEEEA )
L:xrindno— B4 XTALNT Y il e
e o6 | AEEdE 1:24.4 5-7-7-8 | 39.8| — 7 461 | HMIFEZ (RIL)
615|533/ TTHR= 56.0 (4) () |BAEERE )
v —NFAY>F— BHISoh—%¥— e %
- A5 R : 67— — ZMEA (1 W)
B3| VETOELLY b "o A A A T emEs
:azZ /XLy b Biyq—2a %+ [ESazie ]
= 4 9 | THER 1:24.7 8-8-6-6 |40.2| — 4 451 | HMIHEZ (ELL)
8 4 YI7Fv—L ASZ.% (1 1/2) (+6) Eﬁéiﬁ
LY onin— B:YI7T 4 XN— Eipibae]
® I —F—@EBIERL
1a—74— 7,8,1,6,5,3,2,4
Aol=5r= 7,8,1,6,2,3,5,4
30—7+— 7,8,1,2,6,4,(3,5)
43—+ — 7,8,2,1,6,4,3,5
[ RN
B OB 2 100M4 714K 2-8 340M B E 2-8 900M &R 1-2-8 470M
8 B 2 1009 1-2 110M B H 2-8 970M JEH 2-8-1 1,920
8 260 1-8 390
1 1009

ABTICOVTRDTEEERROODE, JHB LS,



